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EASTER CODEBREAKER 2A 

MULTIPLICATION TO 5x5 

Use the clues to work out the answer to the Easter joke. 

A B C D E G H I N R S U V W Y 
12 8 4 10 20 3 15 1 0 25 2 16 9 5 6 

 

Why was the Easter Bunny wearing a hat? 

Letter B          
Number 8          
Fact 4x2 5x4 2x2 4x3 4x4 2x1 4x5  3x5 5x4 
           
Letter           
Number           
Fact 5x1 3x4 1x2  5x3 3x4 3x3 1x1 0x3 3x1 
           
Letter           
Number           
Fact 4x3  2x4 3x4 2x5  3x5 4x3 5x5 4x5 
           
Letter    ! 
Number     
Fact 2x5 4x3 2x3  
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EASTER CODEBREAKER 2A ANSWERS 

MULTIPLICATION TO 5x5 

Use the clues to work out the answer to the Easter joke. 

A B C D E G H I N R S U V W Y 
12 8 4 10 20 3 15 1 0 25 2 16 9 5 6 

 

Why was the Easter Bunny wearing a hat? 

Letter B E C A U S E   H E 
Number 8 20 4 12 16 2 20  15 20 
Fact 4x2 5x4 2x2 4x3 4x4 2x1 4x5  3x5 5x4 
           
Letter W A S   H A V I N G 
Number 5 12 2  15 12 9 1 0 3 
Fact 5x1 3x4 1x2  5x3 3x4 3x3 1x1 0x3 3x1 
           
Letter A  B A D  H A R E 
Number 12  8 12 10  15 12 25 20 
Fact 4x3  2x4 3x4 2x5  3x5 4x3 5x5 4x5 
           
Letter D A Y ! 
Number 10 12 6  
Fact 2x5 4x3 2x3  

 

 


